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1. (1) 2. (2) Bd. (3) PH. (4) .
(5) P8, (6)dt. (7) BE. (8) Jks

(9) Fo
2. 78, %
3. (1) Wb, 817, R

(2) #=,db, P8, F4,
4. (1) &, %K. (2) &,FH.

(3) /INK/INEE, (4) 7R, 78,
(5) Fd,dks
5. %
6. V4.
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1. 200,30,300,8,9,7,70,50,80.,
2. 14,216,62,85,163,17,
3.(1) A, (2) A, (3) B, (4) Co
(5) A,B,
4. (1) =, =, ,M, (2) 204,
(3) 206,824, (4) 14, (5) 16,
(6) 118, (7) 361,360, (8) 90,
(9) 6, (10) /NN, (11) 23,46,
(12) 162,
5. (1)111 Tk,
(2) BRI 5 50 0 HoBknaewl 5 264, B
UL 105,90,65 GE#E 5 358, UM A& 4
105+90+65=260 JCHJ M & 260+2=
130 70 AL ZEZESLRRARME IR |
€QQ KL HIEYAICKPH A 2 E ).

(3) P84 20x3=60 - , XA 60x2=120 - ,
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“GRE—3]”
1. 100,30,90,110,100,370,30,120,400,11,
8,11,8,40,90,300,91,
2. 1%, 3.20,40,60,80,100, 4. =,>,>,<.
5.205,51,141,190-++--4,
6. (1) 92, (2)20, (3) 10, (4) 210,
(5) 14, (6) 7. (7) 21, (8) 73,78,
(9) 72,24, (10) 70,
7. 85 /[N,
8. T4, 800x4=32002K,
9. (1) BEREMIEREER, 36 7,30 /1
(2) 18 4,
(3) &,
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1L (1) =, M, (2)1,2,4,8, (3) 0,
(4) 11,1, (5) 5. (6) 4,16, (7) =, M,
(8) 7. (9) 5,39, (10) 30, (11) 8,3,
(12) 1,3,
2. (1) xo (2) V. (3) %, (4) xo (5) %,
(6) xo
3.(1) Co (2) B, (3) As (4) Co
(6) A, (7) D,
4. 108,104,103,
5. (1) 57 101, R0 6. (2) 48,
6. (1) 40 K. (2) 64 T2k,
(3) P 103, 2350 2.
(4) 408RMT, 39 1NTEIFS , Tl N — 345 %
§ 39=195%,

(5) B,




